Rechnen mit Klammern

Addieren

(+a) + (+b) = a + b



(+a) + (-b) = a – b



(+5) + (+2) = 5 + 2 = 7


(+5) + (-2) = 5 – 2 = 3




Merke:     
 + vor der Klammer




      Vorzeichen in der Klammer gleich lassen
Subtrahieren

(+a) – (+b) = a – b



(+a) – (-b) = a + b



(+5) – (+2) = 5 – 2 = 3


(+5) – (-2) = 5 + 2 = 7

Merke:     
 – vor der Klammer




      Vorzeichen in der Klammer ändern

Multiplizieren                           Dividieren

(+) . (+) = +



(+) : (+) = +

(–) . (–) =  +



(–) : (–) =  +


Merke:
gleiche Vorzeichen (  +
(+) . (–) =  –



(+) : (–) =  –
(–) . (+) =  – 



(–) : (+) =  –

Merke:
verschiedene Vorzeichen ( –
